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1M020A Pupil Tasks 

Master The Number Line to 20 A 

Step 1 

Partner 1 closes their eyes.   

 
 

 

 
Step 2 

Partner 2 places a counter to hide a number on the 
number line.  

 

 

Step 3 

Partner 1 opens their eyes and says the stem 
sentence… ___ is here on the number line because 

___ is 1 more than ___  

 

 
 

 

 

 
 

Step 4 

Partner 2 uses 1 less to agree or disagree with their 
partner.  

 

 

 

Repeat each step, taking turns in each role.  

___ is here on the number 
line because ___ is 1 more 

than ___  
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The hidden number is ___ 

because ___ is 1 less than 
___  

Step 3 

Partner 1 opens their eyes and says the stem 
sentence… ___ is here on the number line because 1 

more than ___ is ___  

 
 
 

 

 

Step 4 

Partner 2 agrees or disagrees with their partner by 
saying the stem sentence… ___ is here on the 

number line because 1 less than ___ is ___  

 

 

 

16 is here on the 
number line because 
1 more than 15 is 16 

16 is here on the 
number line because 

1 less than 17 is 16 
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